Gases

( Particles are _______________________
( They move ______________, in a ___________________
( There are ___________________ interparticle attractions

Ideal Gas

Attractive/repulsive forces between particles is ______________
Volume of the particles themselves is _____________ (compared to total volume of container)  
Particles are very far apart

Pressure
_______________ exerted by moving particles when they ________________ with other particles over a given _____________________
Pressure = _____________/_____________



              

_____________________ - no particles, therefore, no ______________________
Atmospheric pressure
Results from ____________________________________________________________ with objects

An increase in elevation, _____________________ pressure    (air "thins out", less collisions)

Barometer   

An instrument used to measure air pressure

Has a vacuum in the closed end, other end open to atmosphere
Units of Pressure

Standard Air Pressure (0(C, sea level)

atmosphere



1.0 atm

pascal




101,300 Pa

kilopascal



101.3 KPa

torr




760 torr

pounds per square inch

14.7 psi

millimeters of mercury

760 mm Hg

inches of mercury


29.9 in Hg

Ex:  Convert 873 mm Hg to kPa.

Ex. Convert 1.72 atm to Pa

BOYLE'S LAW   -  Volume and Pressure are ______________________________ proportional.
___________ = k

Equation: 

                              1 = initial conditions
    2 = final conditions

Ex: A balloon has a volume of 200 ml at 14.7 psi.  What would its volume be if the pressure changes to 10.2 psi?
CHARLES' LAW  -  Volume and Temperature are _____________________ proportional.

   =  k   

Equation: 
Ex: A balloon has a volume of 200 ml at 25°C.  What is the temperature if the balloon 
       increases to 400 ml?
GAY-LUSSAC’S LAW  -  Pressure and Temperature are _________________ proportional.
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    is referred to as the _____________________
Ex: A gas sample at 28(C and 1.26 atm has a volume of 13.8L.  What would the volume 
      be if the pressure was 7.40 atm and the temperature was 34(C?
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